#### **Invoice**

TO: Kings County District Attorney's Office Keith Fagundes

September 29, 2019

Quantity	Price	Description	Amount
2 set	\$75.00	Business Cards for District Attorney Office (1,000 each)	\$150.00

RECEIVED

Sub Total	\$150.00
Sales Tax (7.25%)	\$10.88
Shipping	\$13.81
Amount Due	\$174.69
	Sales Tax (7.25%) Shipping

#### PO# 101519

TO: Kings County DA Office c/o Bryan Toppan 216000

October 15, 2019

Quantity	Price	Description	Price
4 ea.	\$92.00	Orange Squarecade sign stand #145	\$368.00
4 ea.	\$96.00	2 sided vinyl wrap 24x24	\$384.00

Shipping not included

Sub Total	\$752.00
Sales Tax (7.25%)	\$26.68
Shipping	\$191.38
Amount Due	\$970.06

#### Thank You For Your Business!

216300

# Spy Screen & Image Printing 6720 8-1/2 Avenue Hanford, CA 93230 (559) 707-0996 spygrahpix@yahoo.com

### <u>Invoice</u>

TO: Kings County District Attorney's Office Victim Witness Program

December 2, 2019

Quantity	Price	Description	Amount
3 sets	\$75.00	Business Cards for Victim Witness Program (1,000)	\$225.00

Sub Total	\$225.00
Sales Tax (7.25%)	\$16.31
Shipping	\$41.31
Amount Due	\$282.62

#### **Invoice**

TO: Kings County District Attorney's Office Keith Fagundes

December 24, 2019

Quantity	Price	Description	Amount
5 set	\$75.00	Business Cards for District Attorney Office (1,000 each)	\$375.00

# RECEIVED

1411 03 2020

**District Attorney** 

Sub Total	\$375.00
Sales Tax (7.25%)	\$27.19
Shipping	\$69.20
Amount Due	\$471.39

#### Invoice

### TO: Kings County District Attorney's Office Victim Witness Assistant Program

June 3, 2020

Quantity	Price	Description	Amount
1 ea.	\$135.00	Aluminum Victim Witness sign (3x5') w/12x14" sign business hours	\$135.00
1 ea.	\$150.00	Labor & Installation	\$150.00

Sub Total	\$285.00
Sales Tax (7.50%)	\$9.79
Amount Due	\$294.79

#### **Invoice**

TO: Kings County District Attorney's Office Keith Fagundes

June 3, 2020

Quantity	Price	Description	Amount
1 set	\$80.00	District Attorney logo's for front doors	\$80.00
1 ea.	\$50.00	Remove & Install logo	\$50.00
3 ea.	\$40.00	Navy women's polo's w/DA logo	\$120.00

Sub Total	\$250.00
Sales Tax (7.25%)	\$14.50
Shipping	\$12.95
Amount Due	\$277.45

### **Invoice**

TO: Kings County District Attorney's Office

October 19, 2020

Quantity	Price	Description	Amount
5 ea.	\$30.00	Polo shirts w/DA Star logo	\$150.00
2 ea.	\$35.00	Buttom up shirt w/DA star logo	\$70.00

Sub Total	\$220.00
Sales Tax (7.50%)	\$80.88
Amount Due	\$300.88

### **Invoice**

TO: Kings County District Attorney's Office Keith Fagundes

November 18, 2020

Quantity	Price	Description	Amount
1 set	\$75.00	Business Cards for District Attorney Office (1,000 each)	\$75.00

Sub Total	\$75.00
Sales Tax (7.25%)	\$5.43
Shipping	\$10.95
Amount Due	\$91.38

#### **Invoice**

TO: Kings County District Attorney's Office Keith Fagundes

December 8, 2020

Quantity	Price	Description	Amount
2 ea.	\$20.00	18x24 coroplast boards w/DA logo	\$40.00

Amount Due

\$40.00

### **Invoice**

TO: Kings County District Attorney's Office Keith Fagundes

December 15, 2020

Quantity	Price	Description	Amount
2 set	\$75.00	Business Cards for District Attorney Office (1,000 each)	\$150.00

Sub Total	\$150.00
Sales Tax (7.25%)	\$10.88
Shipping	\$12.95
Amount Due	\$173.83

216300

### **Invoice**

TO: Kings County District Attorney's Office

April 19, 2021

Quantity	Price	Description	Amount
7 ea.	\$30.00	Polo shirts w/DA Star logo	\$210.00

Sub Total	\$210.00
Sales Tax (7.50%)	\$15.23
Shippng	\$14.95
Amount Due	\$240.18

#### **Invoice**

TO: Kings County District Attorney's Office Keith Fagundes

April 6, 2021

Quantity	Price	Description	Amount
1 ea.	\$1,100.00	Printed and installed lettering and DA Star logo on toy hauler	\$1,100.00

Amount Due

\$1,100.00

### Invoice

TO: Kings County District Attorney's Office

April 22, 2021

Quantity	Price	Description	Amount
1 ea.	\$80.00	District Attorney door magnets (18x24")	\$80.00

Amount Due

\$80.00

216302

#### **Invoice**

TO: Kings County District Attorney's Office Victim Witness Assistant Program

July 7, 2021

Quantity	Price	Description	Amount
1 set	\$200.00	Wrapped provided corn hole boards w/DA star logo	\$200.00

Amount Due

\$200.00

### **Invoice**

TO: Kings County District Attorney's Office

January 8, 2022

Quantity	Price	Description	Amount
2 ea.	\$150.00	Tablecloths w/printed DA logo	\$300.00

Amount Due

\$300.00

### **Invoice**

TO: Kings County District Attorney's Office

March 21, 2022

Quantity	Price	Description	Amount
1 ea.	\$100.00	36"x36" County Seal Circle	\$100.00

Amount Due

\$100.00

#### INVOICE

TO: Kings County District Attorney's Office

March 30, 2022

Quantity	Price	Description	Price
6 ea.	\$15.00	DA Stars printed and laminated	\$90.00

Sub Amount	\$90.00
Sales Tax	\$6.53
Amount Due	\$96.53

Thank You For Your Business!